BIOL202
Review Exercise


1
Which of the following metals is methylated by biological activity?

A. Mercury

B. Lead

C. Chromium

D. Copper

2
Which cod fishery could be most accurately described as sustainably managed? 

A. The Grand Banks fishery, Newfoundland

B. The Icelandic Coastal fishery

C. The Irish Sea fishery

D. The North Sea fishery

3
Which fish has been most resistant to overfishing in historical times?

A. Cod

B. Plaice

C. Haddock

D. Hake

4
Which chemicals have been shown to cause endocrine disruption in wild British freshwater fish?

A. Alkyl Benzenes

B. Alkyl Phenols

C. Polychlorinated Biphenyls

D. Dioxins

5
Which substance or group of substances is likely to be present at high concentration in a properly managed, modern sewage treatment works?

A. Ammonia

B. Nitrates

C. Phosphates

D. Sulphates

6
Which of the following levels is likely to represent the lowest concentration for a toxic pollutant?

A. The Environmental Quality Objective (EQO)

B. The Environmental Quality Standard (EQS)

C. The Lethal Concentration (LC50)

D. The Lethal Dose (LD50)

7
Which level of toxic impact of an organochlorine on fish in UK freshwaters is most credible in 2006?

A. Acute

B. Lethal

C. Sub-lethal

D. Cumulative

8
Which is the main source of PCBs to the environment in 2006?

A. Agriculture

B. Disposal of plastics

C. Landfill

D. Waste incineration

9
PCBs contain more than one chemical. How many of these congeners are likely to be present in a sample of aquatic sediment from an industrial area when analysed using a sensitive method?

A. 5

B. 10

C. 110

D. 209

10
Which was the main source of dioxins to the UK environment in 2001?

A. Foot and mouth pyres

B. Municipal waste incineration

C. Accidental fires

D. Incineration of PCBs

11
Which of the following has been connected with the consumption of fish from the North American Great Lakes?

A. Slow growth in infancy

B. Low birth weight babies

C. Low IQ in mothers

D. Human infertiliy

12
Which of these chemicals is unlikely to be found in Polar Bear fat?

A. Polychlorinated Biphenyls

B. Alkyl Benzene Sulphonate

C. Dibenzofurans

D. DDT

13
Which policy stopped the production of excessive amounts of foam on UK rivers?

A. The banning of detergents

B. The introduction of long chain detergents

C. The introduction of branched chain detergents

D. The removal of phosphates from detergents

14
Which organisms are most likely to be impacted by the discharge from a modern sewage treatment works treating effluent from 5,000 person equivalents?

A. Otters

B. Roach

C. Tubificid worms

D. Submerged macrophytes 

15
Which of the following communities would not need to install full sewage treatment works under the Urban Wastewater Directive (91/271/EEC)?

A. 90000 p.e. into open coastal water

B. 11000 p.e. into an estuary

C. 3000 p.e. into an inland water

D. 9000 p.e. into an open coastal water

16
Which was the major route for the disposal of sludge from the North West of England after 1998?

A. Agricultural land

B. Dumping at sea

C. Incineration

D. Landfill

17
Fish caught from the mouth of the River Mersey in 1984 failed the EQO for which element?

A. Cadmium

B. Mercury

C. Arsenic

D. Lead

18
Which element was involved in the death of wading birds in the Mersey estuary during the 1980s?

A. Cadmium

B. Mercury

C. Arsenic

D. Lead

19
Which element was emitted into the Mersey estuary in large quantities during the end of the 1800s but has now returned to background levels?

A. Cadmium

B. Mercury

C. Arsenic

D. Lead

20
Ammonia is most toxic to fish in :

A. Cold, hard water

B. Warm, soft water 

C. Warm, salt water

D. Cold, salt water

21
Which substance is likely to protect aquatic life from the impact of toxic metals?

A. Oxygen

B. Calcium

C. Sodium

D. Hydrogen

22
Which contaminant will persist for the longest period of time in the body of a fish?

A. Cadmium

B. Polynuclear Aromatic Hydrocarbons (PAH)

C. Copper

D. Zinc

23
Which substance is most likely to cause the death of fish by acute pollution in UK rivers in most years?

A. Organophosphorus Pesticide

B. Dioxin

C. PCB

D. Sugar

24
Which gas is not involved in forest decline in European forests?

A. Sulphur dioxide

B. Ozone

C. Carbon dioxide

D. Nitrous oxide

25
Which problem is not reducing migratory fish populations in Norwegian rivers?

A. Acidification

B. Endocrine disruption

C. Afforestation

D. Aquaculture

26
Which river does not have a self-sustaining run of migratory salmon?

A. Tyne

B. Welsh Dee

C. Thames

D. Wye
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